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. On what interval is the curve y =

LLet () = [F2259 4p Byaluate lim £ (x) =

\/E
(A) 0; B) 1; (©) e (D) 2e".
. Evaluate limy_,q 1_;(2)Sh
1 3
(A) 0; B) 3 (OB D) 3

. Let f(x) =zx—3 and g(x) = x Find (f~1e g ™H)(1).

(A)33: (B) 32; (C) 31; (D) 30.
. The integral f ) im: dx =
(A)0; B) 1 ©) 2 (D) co.

. Consider f(x) = 7x + cos x. Which of the following statements is true ?
(A) f(x) has infinitely many roots;

(B) f(x) is a periodic function;

(C) f(x) has exactly one root;

(D) f(x) has a slant asymptote y = 7x.

. Evaluate fonsecz(x/l}) dx =
(A) 8 (B) 4; ©) 2 (D) 1.

L Let FGO) = [

(A) x3cos(x®); (B) x3sin(x3); (C) 3x%cos(x®); (D) 3x%sin(x®).

sin(t?) dt, find F'(x) =

2
dt concave downward ?

X
0 t2+t+2

(A)(0.4);  (B)(4 ) (O)(-40); (D) (-00,-4).
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9. Find the equation of the tangent line to the curve y = x¢°5® at x = m/2.

(A) y—1=—(x—2); (B) y —1=In(m/2)(x —>);

©C)y—1=-In (g) (x — g), D)y —1=In(n)(x —g).

10. Find Z—z, where xe¥ —xy +3y2 =0

y—eY eY-y x—e¥ x+eY

(©) xeY+x+3y’ (D) xeY+x+6y

(A) (B)

xeY—x+6y’ xeY—x+3y’

11.  Which of the following statements are not true ?

2 b+h

(A) f_nﬁz sin®(x)cos(x) dx = Z; (B)f: fx+hydx = [ f(x) dx;

(O)If f(x) =x" then f! exist; (D) In(x%/?) = éln(x).

12.  Which of the following statements are not true ?

(A) If f is continuous on [0,1], then [ f(x)dx = [, f(1 —x)dx ;

(B) If 2< f(x) <4 for 0<x <1, then 1< [ f(x)dx <S5;
(C) Iff(x) is continuous on [a,b], then f(x) is integrable on [a,b];

(D) % [f;((;))f(t)dt] = f(v())v'(x) = f(ul))u' (x).

13. Which of the following statements are true ?
2
B) f[ P dx=2;

(B) If x = a is a vertical asymptote of y = f(x), then f(a) exists;
(C) If f iscontinuous at a, then f is differentiable at a;

(D) If f is continuous at a, sois |f].

14. How many points of inflection does the function f(x) = x® — 15x? + 1 have ?
(A) 0; B) 1; © 2 (D) 3.
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How many real roots does the equation 4x° + x3 + 2x + 4 = 0 have ?
A) 1L (B) 2; (©) 3; D) 5.

The slope of the tangent to x3 + xy — cos(xy) = 0 at the point (1,0) is
(A)0; (B)-1; ©)-2; (D) -3.

Let F(x) = fxl3 V14 + 2tdt. Then the derivative (F~1)'(0) =

-1 1 -1 1
N G R S (= ()
The absolute maximum value of the function f{x) = xV9 — x?, —3 <x <3 is

) & ® o0 (O o) 2

Suppose that f'(a) =1 for some constant a. The possible value “a” for the

C 1 f(x)=f(a) .
limit lim,_, J3i/§—1a =3 is
(A) 0; B) 1; ©)2; (D) 3.

Let f be a continuous function on [1,4] and | 14 f(x)dx = 10.

Which of the following statements is always true ?

(A) The average value of f on the interval [1,4] is equal to 3;

(B) The maximum value of f on the interval [1,4] is less than 4;
(C) The minimum value of f on the interval [1,4] is greater than 0;

(D) The maximum value of f on the interval [1,4] is greater than 3.

Which of the following statements are not true ?

sinx sin

(A) limx_m-T = 0, (B) limx_m T = 1,
©) limx_,(,% =1; (D) lim,_,_s % =0;

For what values of a does the curve y = ax3 + e* have no inflection point ?
(A)-1; (B) 0; ©) 1 (D) 2.
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23. Given that g(3) = 3,9'(3) = 7,h(6) = 3,h'(6) = —2,and let f(x) = gszh(s;))'

Then f'(6) =

W B3 O D)4

24. Let f(x) = <= Then f~'(x) =

(A) In(x +Vx?% —1); (B) In(x — vx2 — 1);
(©) In(vVx?2+1+x); (D) In(WVx?2 +1 —x).

25. Consider

1, if x=0;
fe) = {xsin G), if x#0.

Which of the following statements are true?
(A) f(x) is differentiable at x = 0;

(B) f(x) is continuous at x = 0;

(C) f(x) has a global maximum value;

(D) f(x) has an inflection point.



